2R LKEREMER

MR R (B LkokO)

M S (4 LELER)

B R (Z5F48)

A R (B F48)



B DAKERAERR R

TR - HEEAH k244 H 17H

5 A LETFKY i R By b N L= 17t H N

LI (5 B L) ) s (s k) REILIE
HE (Hfr) EdE] o E TE A7 )11 AAYE Y
A BR AR IR 9:05 10:10 11:39 11:06 -
PN i i i i -
SR (C) 18.5 17.8 19.0 18.8 -
feokAr (Reskh) (m) 438.61 438. 61 - - -
AR (Brki) (m*/s) 3.91 3.91 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 4.8 4.8 - - -
K (ki) 9 10 - - -
KGE (m) 64.6 39.5 2.9 1.5 -
FRAK KGR (m) 0.5 32.3 63.6 0.5 0.6 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 11.9 6.2 5.9 12.2 12.3 12.0 -
)i () 1.4 1.7 3.4 1.2 0.4 1.4 -
DO (mg/1) 10.9 10.6 9.7 10.9 10.3 10.7 -
R RE (mS/m) 3.6 3.4 3.5 3.4 4.5 4.0 -
BE ) y) (AT (%) 1.4 1.7 3.4 1.1 0.3 1.1 -
DO (ZE N4 #HT) (mg/1) 11.0 10. 6 9.9 11.0 10. 4 10.9 7.500 F
pH (=) 7.6 7.5 7.5 7.5 7.6 7.6 6.5L4 8. 5LLF
BOD (mg/1) 1.0 0.3 0.3 0.8 0.3 0.9 1LLF
CODMn (mg/1) 2.2 1.5 1.4 2.0 1.1 1.7 -
SS (mg/1) 2.4 1.0 3.0 1.2 0.4 1.2 25LL°F
KGR #EEL (MPN/100m1) 11 11 7.8 33 700 33 50LLF
RER (mg/1) 0. 448 0. 434 0.413 0.392 0.315 0.413 -
TRy AEESR (mg/1) 0.019 0.019 0. 052 0.019 0.014 - -
BRI S e (mg/1) 0. 002 0. 002 0. 002 0.002 0.001 - -
THEEHEZE R (mg/1) 0.243 0. 255 0. 250 0.235 0.213 - -
wy v (mg/1) 0. 008 0. 005 0. 008 0. 007 0. 007 0. 007 -
VN Y CERREY (mg/1) 0.001 0.001 0.001 0. 001 0. 004 - -
sana’4)ba (mg/m”) 3.5 0.6 0.6 5.0 0.5 4.1 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
Tt AI (ng/1) - - - - - - -
TxA T 4 Fa (mg/m”) 0.8 0.6 0.8 - - - -
VEfRIERR Y > (mg/1) 0.002 0.002 0.002 - 0. 004 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 001 0. 001 - 0. 003 - -
ik (mg/1) 0. 005 0. 004 0. 001 - 0. 001 - 0.03L4F
E PN T T (f#/100m1) 0 0 0 0 0 0 _

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TR - HEEAH k245 H8 H
5 A LETFKY i R By b N L= 17t H N
LI (5 B L) ) s (s k) REILIE
FH () %I \ R T I 1| ANERY
A BR AR IR 8:58 10:05 11:26 10:55 -
PN & 2 i & -
SR (C) 17. 4 22.8 24.8 21.7 -
feokAr (Reskh) (m) 441. 08 441. 08 - - -
AR (Brki) (m*/s) 3.71 3.71 - - -
FeFi e (Brki) (m*/s) 1.88 1.88 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 7.5 7.6 - - -
K (ki) 7 7 - - -
K (m) 67.3 39.0 2.9 1.6 -
FRAK KGR (m) 0.5 33.7 66. 3 0.5 0.6 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 16. 2 6.4 6.0 16.3 14. 1 14.6 -
)i () 0.9 1.0 1.9 1.0 0.5 1.3 -
DO (mg/1) 9.9 10.3 9.3 10.1 9.9 10.0 -
R RE (mS/m) 3.6 3.2 3.7 3.4 4.3 3.9 -
BE ) y) (AT (%) 1.0 1.1 2.1 1.2 0.6 1.2 -
DO (ZE N4 #HT) (mg/1) 10. 1 10.3 9.3 10. 1 9.9 10. 1 7.500 F
pH (=) 7.6 7.4 7.2 7.5 7.5 7.5 6.5LL E8.5LLTF
BOD (mg/1) 0.9 0.3 0.2 0.7 0.4 0.7 1LLF
CODMn (mg/1) 2.0 1.1 1.2 1.9 0.9 1.6 -
SS (mg/1) 1.3 0.8 1.5 1.7 0.4 1.3 25LL°F
KGR #EEL (MPN/100m1) 330 0 4.5 23 460 240 50LLF
RER (mg/1) 0.383 0. 349 0. 356 0. 336 0. 309 0. 363 -
VNN T-F (mg/1) 0. 027 0.019 0. 033 0. 030 0. 030 - -
BRI S e (mg/1) 0.003 0.001 0.001 0.003 0.001 - -
THEEHEZE R (mg/1) 0.217 0. 259 0. 265 0. 209 0.214 - -
wy v (mg/1) 0. 006 0. 004 0. 005 0. 006 0. 007 0. 006 -
VN Y CERREY (mg/1) 0.001 0.001 0. 000 0. 000 0. 005 - -
sana’4)ba (mg/m”) 3.0 0.7 0.4 3.6 0.7 3.5 -
kU o~Nm A F A RREE (mg/1) 0.023 - - - - - -
2MIB (ng/1) 0 - - - - - -
Tt AI (ng/1) 0 - - - - - -
TxA T 4 Fa (mg/m”) 0.3 0.4 0.5 - - - -
VEfRIERR Y > (mg/1) 0.002 0. 001 0. 001 - 0. 004 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 003 - -
ik (mg/1) 0.002 0. 001 0. 001 - 0. 001 - 0.03L4F
FEIERB R ({#/100m1) 6 0 0 4 -
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B DAKERAERR R

TR - HEEAH Fpk24E6H5 H

= & LETAKY ¥ A Bl i AR WA Vit A ¥

LI (5 B L) ) s (s k) REILIE
FH () %I \ R T I 1| ANERY
A BR AR IR 8:58 10:03 11:57 11:26 -
PN 55 55 55 551 -
SR (C) 16.8 17.3 16.8 16.5 -
feokAr (Reskh) (m) 438. 11 438. 11 - - -
AR (Brki) (m*/s) 0. 40 0. 40 - - -
FeFi e (Brki) (m*/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 9.3 8.2 - - -
K (ki) 6 6 - - -
KGE (m) 64.7 38.2 2.9 1.5 -
FRAK KGR (m) 0.5 32.4 63.7 0.5 0.6 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 19.6 6.5 6.1 19.6 15.6 17.2 -
)i () 0.8 1. 1.5 0.8 0.4 1.2 -
DO (mg/1) 9.0 9.5 8.2 9.3 9.3 9.2 -
R RE (mS/m) 3.9 3.6 3.4 3.8 5.4 4.7 -
BE ) y) (AT (%) 1.0 0.9 1.5 0.9 0.4 0.9 -
DO (ZE N4 #HT) (mg/1) 9.3 9.9 8.6 9.6 9.5 9.5 7.500 F
pH (=) 7.8 7.4 7.2 7.8 7.7 7.7 6.5L4 8. 5LLF
BOD (mg/1) 0.7 0.3 0.1 0.8 0.1 0.3 1LLF
CODMn (mg/1) 1.6 1.4 1.2 1.9 0.8 1.4 -
SS (mg/1) 1.1 0.6 1.2 1.2 0.4 0.5 25LL°F
KGR #EEL (MPN/100m1) 3300 1300 330 4900 3300 24000 50LLF
RER (mg/1) 0.323 0. 363 0. 363 0. 357 0.323 0.297 -
VNN T-F (mg/1) 0. 025 0. 025 0. 035 0. 030 0. 025 - -
BRI S e (mg/1) 0. 002 0.001 0.001 0.002 0.001 - -
THEEHEZE R (mg/1) 0.212 0. 292 0. 294 0.208 0.284 - -
wy v (mg/1) 0. 006 0. 003 0. 004 0. 006 0. 007 0. 004 -
VN Y CERREY (mg/1) 0.001 0.001 0.001 0. 001 0. 004 - -
sana’4)ba (mg/m”) 1.9 0.6 0.3 2.8 0.7 1.7 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
Tt AI (ng/1) - - - - - - -
TxA T 4 Fa (mg/m”) 0.8 0.4 0.3 - - - -
VEfRIERR Y > (mg/1) 0. 001 0. 001 0. 001 - 0. 004 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 003 - -
ik (mg/1) 0. 001 0. 003 0.002 - 0. 001 - 0.03L4F
BN T (f#/100m1) 0 0 0 1 290 0 -

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TR - AAEN B TRR2AETH 11 H

= & IJrKY 1 PN Byl VAR AR i Hi R ¥

LI (5 B L) ) s (s k) REILIE
FH () %I \ R T I 1| ANERY
A BR AR IR 9:00 10:24 12:22 11:48 -
K 55 55 55 5 -
SR (C) 22.8 22.1 22.7 21.9 -
feokAr (Reskh) (m) 445.18 445. 18 - - -
AR (Brki) (m*/s) 26.27 26.27 - - -
e (Frkih) (’/s) 4.91 4.91 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 7.5 7.0 - - -
K (ki) 6 6 - - -
K (m) 70. 4 46. 2 3.2 2.0 -
FRAK KGR (m) 0.5 35. 2 69. 4 0.5 0.6 0.4 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 22.4 6.8 6.1 22.7 17.7 19.6 -
)i () 0.7 0.6 1.0 1.1 1.6 1.2 -
DO (mg/1) 8.4 8.9 8.0 8.6 8.8 8.5 -
BRI (mS/m) 3.5 3.8 3.6 3.1 5.3 3.8 -
BE ) y) (AT () 0.9 0.6 1.1 1.0 1.7 0.8 -
DO (ZE N4 #HT) (mg/1) 8.7 9.3 8.5 8.9 9.1 8.8 7.500 F
pH (=) 7.6 7.3 7.2 7.6 7.6 7.6 6.5L4 8. 5LLF
BOD (mg/1) 0.9 0.2 0.1 1.2 0.4 0.5 1LLF
CODMn (mg/1) 2.0 1.1 1.3 2.2 2.6 2.2 -
SS (mg/1) 0.6 0.4 0.5 1. 3.1 1.1 25LL°F
KGR #EEL (MPN/100m1) 92000 1300 1700 4900 13000 24000 50LLF
RER (mg/1) 0. 385 0. 350 0. 350 0.392 0. 357 0. 330 -
VNN T-F (mg/1) 0. 026 0.019 0. 026 0. 026 0. 024 - -
BRI S e (mg/1) 0. 002 0.001 0. 000 0.003 0.001 - -
THEEHEZE R (mg/1) 0.188 0.279 0. 282 0.167 0.221 - -
wy (mg/1) 0.010 0. 003 0. 003 0.018 0.011 0. 009 -
VN Y CERREY (mg/1) 0.001 0.001 0.001 0. 000 0. 005 - -
sana’4)ba (mg/m”) 2.5 0.4 0.2 4.8 1.5 2.5 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
Tt AI (ng/1) - - - - - - -
TxA T 4T a (mg/m®) 1.1 0.4 0.3 - - - -
VEfRIERR Y > (mg/1) 0.003 0. 001 0. 001 - 0. 004 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 003 - -
ik (mg/1) 0. 003 0. 002 0. 001 - 0.003 - 0.03L4F
BN T (f#/100m1) 3 1 1 2 390 16 -

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TR - HEEAH k2448 HTH

= & AJrKY ¥ PN fH B Hb VAR AR Vit A 3

WA (¥ A L) (ALK H) s (s k) RELILIE
S () %I \ R T I 1| ANERY
A BR AR IR 9:01 10:32 13:04 11:35 -
A o 0 it i -
SR (C) 26. 6 28. 4 31.5 27.2 -
feokAr (Reskh) (m) 444, 27 444. 27 - - -
AR (Brki) (m*/s) 1.96 1.96 - - -
FeFi e (Brki) (m*/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 7.3 6.5 - - -
K (ki) 6 7 - - -
K (m) 70.0 44.0 2.7 1.5 -
FRAK KGR (m) 0.5 35.0 69.0 0.5 0.5 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 26. 8 6.9 6.2 27.1 22.5 23.3 -
)i () 0.7 0.9 1.5 0.9 0.5 0.8 -
DO (mg/1) 8.1 8.6 6.7 8.2 8.3 8.5 -
R RE (mS/m) 3.1 3.8 3.8 3.1 5.5 6.8 -
BE ) y) (AT () 0.6 0.6 1.7 0.8 0.4 0.7 -
DO (ZE N4 #HT) (mg/1) 8.2 8.8 6.6 8.4 8.4 8.7 7.500 F
pH (=) 7.6 7.1 7.1 7.9 7.7 7.5 6.5LL 8. 5LLF
BOD (mg/1) 0.5 0.1 0.3 0.6 0.2 0.8 1LLF
CODMn (mg/1) 2.2 1.1 1.4 2.4 1.4 2.1 -
SS (mg/1) 1.0 0.2 0.7 1.1 0.4 0.7 25LL°F
KGR #EEL (MPN/100m1) 4900 4900 3300 3300 1700 7000 50LLF
RER (mg/1) 0.282 0.331 0. 401 0.310 0.317 0. 408 -
VNN T-F (mg/1) 0. 023 0.015 0. 037 0. 023 0. 021 - -
BRI S e (mg/1) 0.003 0.001 0.001 0.003 0.001 - -
THEEHEZE R (mg/1) 0.173 0.283 0. 269 0. 169 0. 262 - -
wy (mg/1) 0. 005 0. 003 0. 003 0. 006 0. 008 0. 005 -
VN Y CERREY (mg/1) 0. 000 0.001 0. 000 0. 000 0. 005 - -
sana’4)ba (mg/m”) 3.0 0.3 0.2 3.1 0.5 2.2 -
kU o~Nm A F A RREE (mg/1) 0. 026 - - - - - -
2MIB (ng/1) 0 - - - - - -
JFAI (ng/1) 0 - - - - - -
TxA T 4 Fa (mg/m”) 0.9 0.2 0.2 - - - -
VEfRIERR Y > (mg/1) 0.002 0. 001 0. 001 - 0. 006 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 001 0. 000 - 0. 004 - -
ik (mg/1) 0. 001 0. 002 0.002 - 0. 001 - 0.03L4F
FEIERB R ({#/100m1) 1 1 0 3 10 1 -

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TS - HEEAH k249 H 13 H
< A K L HE b S il Bh A A B ML A ;
WA (¥ A L) (ALK H) (B17-H6) (s k) RELILIE
S () %I \ R \ T I 1| ANERY
A BR AR IR 9:38 10:54 13:08 11:56 -
PN i & & & -
SR (C) 26.5 27.9 26.8 24.9 -
feokAr (Reskh) (m) 444. 96 444. 96 - - -
AR (Brki) (m*/s) 5. 41 5. 41 - - -
FeFi e (Brki) (m*/s) 5. 41 5. 41 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 7.4 7.3 - - -
K (ki) 9 9 - - -
K (m) 71.7 41.5 3.3 1.8 -
FRAK KGR (m) 0.5 35.9 70.7 0.5 0.7 0.4 -
S8l £, 355 ] 455 ] PRI 4375 ] 035 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 24. 4 6.9 6.2 24.6 18.8 22.1 -
)i () 0.6 0.6 4.3 0.7 0.4 0.9 -
DO (mg/1) 8.5 8.4 4.7 8.2 9.1 8.6 -
BRI (mS/m) 4.2 3.8 4.1 4.0 4.4 4.4 -
BE ) y) (AT (%) 0.6 0.5 4.2 0.6 0.4 0.8 -
DO (ZE N4 #HT) (mg/1) 8.4 8.4 4.9 8.5 8.9 8.6 7.500 F
pH (=) 7.7 7.2 7.0 7.6 7.7 7.6 6.5LL 8. 5LLF
BOD (mg/1) 0.6 0.2 0.3 0.6 0.2 0.5 1LLF
CODMn (mg/1) 2.2 1.1 1.5 2.6 1.1 1.9 -
SS (mg/1) 0.6 0.4 1.3 0.7 0.7 0.6 25LL°F
KGR #EEL (MPN/100m1) 790 230 460 2200 490 1700 50LLF
RER (mg/1) 0.375 0. 347 0.483 0.314 0.293 0.334 -
TRy AEESR (mg/1) 0. 034 0. 028 0. 061 0.018 0.016 - -
BRI S e (mg/1) 0.003 0.001 0.001 0.003 0.001 - -
THEEHEZE R (mg/1) 0.195 0. 262 0.241 0.187 0.214 - -
wy (mg/1) 0. 008 0. 004 0. 006 0.010 0. 009 0. 007 -
VN Y CERREY (mg/1) 0. 002 0.001 0.001 0. 001 0. 004 - -
sana’4)ba (mg/m”) 1.8 0.3 0.2 2.6 0.7 2.2 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
VoA AI (ng/1) - - - - - - -
TxA T 4T a (mg/m®) 0.6 0.4 0.4 - - - -
VEfRIERR Y > (mg/1) 0.003 0.002 0.002 - 0. 005 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 001 0. 001 0. 001 - 0. 004 - -
ik (mg/1) 0. 002 0. 003 0. 004 - 0. 001 - 0.03L4F
E PN T T (f#/100m1) 0 0 0 17 5 9 _
BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

RS - HEEAH k2410 10H
= PN VN YE Mt S By b N L= 17t H 3
LI (5 B L) ) s (s k) REILIE
FH () %I \ R \ T I 1| ANERY
A BR AR IR 9:02 10:13 11:44 11:08 -
K i i i i -
SR (C) 19.0 19.6 20.7 21.1 -
feokAr (Reskh) (m) 444, 93 444. 93 - - -
AR (Brki) (m*/s) 2.77 2.77 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 5.4 6.2 - - -
K (ki) 9 8 - - -
K (m) 70.8 46. 1 0.3 1.5 -
FRAK KGR (m) 0.5 35. 4 69. 8 0.5 0.1 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 18.7 9.7 6.4 19.0 15.7 18.9 -
)i () 1.0 1. 2.0 0.9 0.3 1.1 -
DO (mg/1) 9.2 7.7 6.6 .1 9.7 9.2 -
BRI (mS/m) 3.4 3.6 3.6 3.3 4.6 6.6 -
BE ) y) (AT (%) 1.0 1.4 2.0 1.0 0.2 1.2 -
DO (ZE N4 #HT) (mg/1) 9.2 7.8 6.8 9.3 9.7 9.1 7.500 F
pH (=) 7.7 7.4 7.2 7.4 7.5 7.5 6.5LL E8.5LLTF
BOD (mg/1) 0.5 0.1 0.2 0.5 0.1 0.5 1LLF
CODMn (mg/1) 2.0 1.2 1.2 2.0 0.7 1.8 -
SS (mg/1) 0.9 1.1 1.5 0.8 0.1 0.8 25LL°F
KGR #EEL (MPN/100m1) 1300 700 79 2400 490 4900 50LLF
RER (mg/1) 0.371 0.337 0. 398 0. 344 0. 255 0. 344 -
VNN T-F (mg/1) 0. 050 0. 037 0. 037 0. 037 0. 039 - -
BRI S e (mg/1) 0. 002 0.001 0.001 0.002 0.001 - -
THEEHEZE R (mg/1) 0. 209 0.246 0. 281 0.203 0.202 - -
wy (mg/1) 0. 006 0. 005 0. 004 0. 007 0. 006 0. 007 -
VN Y CERREY (mg/1) 0. 002 0.003 0.001 0.002 0. 005 - -
sana’4)ba (mg/m”) 3.0 0.2 0.2 3.2 0.4 2.5 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
VoA AI (ng/1) - - - - - - -
TxA T 4T a (mg/m®) 0.8 0.4 0.4 - - - -
VEfRIERR Y > (mg/1) 0.003 0.002 0. 001 - 0. 005 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 001 0. 000 - 0. 004 - -
ik (mg/1) 0. 002 0. 003 0.003 - 0. 001 - 0.03L4F
FEIERB R ({#/100m1) 2 0 2 1 -

BRIE AL VR TR R
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B DAKERAERR R

TR - HEEAH k2411 6H

= VAPNi§7/N YE Hh A By b N L= 17t H 3

IR (5 B L) ) s (s k) RELILIE
S () %I \ R T I 1| ANERY
A BR AR IR 9:00 10:22 11:58 11:23 -
PN & i i i -
SR (C) 13.8 17.3 17.0 14.0 -
feokAr (Reskh) (m) 442. 99 442. 99 - - -
AR (Brki) (m*/s) 2.91 2.91 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 7.0 6.5 - - -
K (ki) 8 8 - - -
K (m) 67.5 44.3 0.3 1.5 -
FRAK KGR (m) 0.5 33.8 66. 5 0.5 0.1 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 15.4 9.1 6.5 15.7 12.8 15.7 -
)i () 0.7 0.7 4.9 0.8 0.4 1.0 -
DO (mg/1) 9.0 7.5 5.6 9.4 10. 4 9.6 -
R RE (mS/m) 4.3 3.6 3.8 4.1 4.5 4.2 -
BE ) y) (AT () 0.7 0.8 4.7 0.7 0.3 0.8 -
DO (ZE N4 #HT) (mg/1) 8.8 7.3 5.5 9.0 10.3 9.4 7.500 F
pH (=) 7.7 7.5 7.3 7.4 7.5 7.5 6.5LL 8. 5LLF
BOD (mg/1) 0.3 0.2 0.3 0.4 0.2 0.3 1LLF
CODMn (mg/1) 1.5 1.1 1.4 1.5 0.9 1.5 -
SS (mg/1) 0.8 0.8 3.8 1.0 1.5 0.9 25LL°F
KGR #EEL (MPN/100m1) 110 130 330 46 1100 1100 50LLF
RER (mg/1) 0. 329 0. 336 0. 459 0. 329 0. 267 0. 336 -
VNN T-F (mg/1) 0. 048 0. 027 0. 035 0. 035 0. 029 - -
BRI S e (mg/1) 0. 002 0.001 0.001 0.002 0.001 - -
THEEHEZE R (mg/1) 0. 229 0. 267 0.310 0.222 0.195 - -
wy v (mg/1) 0. 004 0. 004 0. 008 0. 004 0. 004 0. 005 -
VN Y CERREY (mg/1) 0. 002 0.003 0.001 0. 001 0.003 - -
sana’4)ba (mg/m”) 4.1 0.5 0.5 4.3 0.5 3.8 -
kU o~Nm A F A RREE (mg/1) 0.024 - - - - - -
2MIB (ng/1) 0 - - - - - -
Tt AI (ng/1) 0 - - - - - -
TxA T 4 Fa (mg/m”) 0.7 0.7 0.7 - - - -
VEfRIERR Y > (mg/1) 0. 001 0.002 0. 001 - 0. 003 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 001 0. 002 0. 001 - 0. 002 - -
ik (mg/1) 0.002 0. 002 0.002 - 0. 001 - 0.03L4F
E PN T T (f#/100m1) 2 2 1 0 5 9 -

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TR - HEEAH Fpk24E12H4H
= VAPNi§7/N YE Mt S By b N L= 17t H 3
LI (5 B L) ) s (s k) REILIE
FH () %I \ R T I 1| ANERY
A BR AR IR 9:14 10:22 12:33 11:49 -
PN £ i i i -
SR (C) 4.8 4.5 6.0 6.0 -
feokAr (Reskh) (m) 440. 46 440. 46 - - -
AR (Brki) (m*/s) 1.89 1.89 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 6.0 5.9 - - -
K (ki) 7 7 - - -
K (m) 67.7 41.8 0.3 1.5 -
FRAK KGR (m) 0.5 33.9 66. 7 0.5 0.1 0.3 -
S8l £, 355 ] 455 ] PRI 4375 ] 035 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 12.1 8.3 6.6 12.1 7.3 11.5 -
)i () 0.8 1.0 .3 0.8 0.3 1.1 -
DO (mg/1) 9.2 7.1 4.7 9.3 11.7 9.9 -
R RE (mS/m) 4.4 3.6 3.8 4.4 5.4 4.4 -
BE ) y) (AT (%) 0.9 1.2 6.7 0.9 0.2 0.9 -
DO (ZE N4 #HT) (mg/1) 9.4 7.2 4.7 9.5 11.5 10. 1 7.500 F
pH (=) 7.5 7.2 7.1 7.4 7.6 7.5 6.5LL E8.5LLTF
BOD (mg/1) 0.4 0.1 0.1 0.2 0.1 0.2 1LLF
CODMn (mg/1) 1.7 1.3 1.8 1.6 1.1 1.5 -
SS (mg/1) 1.2 1.3 5.5 0.6 0.1 0.6 25LL°F
KGR #EEL (MPN/100m1) 14 110 33 23 110 330 50LLF
RER (mg/1) 0. 381 0. 359 0. 501 0. 367 0. 267 0. 338 -
TRy AEESR (mg/1) 0. 030 0. 025 0. 030 0. 030 0. 030 - -
BRI S e (mg/1) 0.001 0.001 0.001 0.002 0.001 - -
THEEHEZE R (mg/1) 0.228 0.283 0.324 0.227 0.199 - -
wy (mg/1) 0. 006 0. 004 0.014 0. 005 0. 004 0. 004 -
VN Y CERREY (mg/1) 0.001 0. 002 0.001 0. 001 0.003 - -
sana’4)ba (mg/m”) 2.6 0.9 1.0 3.0 0.4 2.2 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
Tt AI (ng/1) - - - - - - -
TxA T 4T a (mg/m®) 1.0 0.7 1.5 - - - -
VEfRIERR Y > (mg/1) 0.003 0.002 0.002 - 0. 003 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 002 - -
ik (mg/1) 0. 001 0. 001 0. 001 - 0. 001 - 0.03L4F
FEIERB R ({#/100m1) 1 1 1 3 -

BRIE AL VR TR R

i) AN
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0
i AN




B DAKERAERR R

TR - HEEAH Fpk25E1 H8 H
5 A LETFKY i R By b N L= 17t H N
LI (5 B L) ) s (s k) REILIE
FH () %I \ R T I 1| ANERY
A BR AR IR 9:03 10:11 11:42 11:10 -
PN =2 2 2 2 _
SR (C) 4.7 5.5 6.3 4.7 -
feokAr (Reskh) (m) 440. 20 440. 20 - - -
AR (Brki) (m*/s) 2.56 2.56 - - -
FeFi e (Brki) (m*/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 8.2 9.2 - - -
K (ki) 8 7 - - -
K (m) 66. 3 38.8 2.6 1.5 -
FRAK KGR (m) 0.5 33.2 65.3 0.5 0.5 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 7.5 7.1 6.7 7.6 4.7 7.1 -
)i () 0.5 1.6 7.0 0.5 0.2 1.0 -
DO (mg/1) 9.9 8.9 4.2 10. 4 12.5 11.0 -
BRI (mS/m) 4.9 3.7 3.8 4.9 5.7 4.9 -
BE ) y) (AT (%) 0.7 1.2 6.5 0.5 0.1 0.8 -
DO (ZE N4 #HT) (mg/1) 10. 1 9.1 4.4 10.6 12.5 11.0 7.500 F
pH (=) 7.5 7.4 7.1 7.4 7.5 7.4 6.5LL E8.5LLTF
BOD (mg/1) 0.3 0.2 0.2 0.3 0.2 0.3 1LLF
CODMn (mg/1) 1.2 1.3 1.6 1.3 0.6 1.2 -
SS (mg/1) 0.7 1.3 5.9 1.2 0.0 0.8 25LL°F
KGR #EEL (MPN/100m1) 79 240 49 110 170 350 50LLF
RER (mg/1) 0. 342 0. 369 0.471 0.322 0. 281 0. 356 -
TRy AEESR (mg/1) 0. 024 0. 021 0. 032 0. 026 0. 037 - -
BRI S e (mg/1) 0.001 0.001 0.001 0. 001 0.001 - -
THEEHEZE R (mg/1) 0.244 0. 257 0.314 0. 240 0.225 - -
wy (mg/1) 0. 004 0. 004 0.012 0. 003 0. 006 0. 003 -
VN Y CERREY (mg/1) 0. 002 0. 002 0.001 0. 001 0. 004 - -
VA== Py (mg/m®) 1.5 0.9 0.9 2.1 0.3 1.1 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
Tt AI (ng/1) - - - - - - -
TxA T 4T a (mg/m®) 0.1 0.3 1.2 - - - -
VEfRIERR Y > (mg/1) 0. 001 0. 001 0.002 - 0. 003 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 002 - -
ik (mg/1) 0. 002 0. 002 0.003 - 0.002 - 0.03L4F
FEIERB R ({#/100m1) 0 0 1 1 -

BRIE AL VR TR R

i) AN

0
i) AN

i) AN

0
i AN




B DAKERAERR R

TS - HEEAH k252 H 13 H
= PN VN YE Hh A A Bl b s N L= 17t H 3
WA (¥ A L) ) s (s k) RELILIE
S () %I \ R T I 1| ANERY
A BR AR IR 9:08 10:30 12:11 11:38 -
PN & 2 i & -
SR (C) 1.0 1.6 2.9 2.5 -
feokAr (Reskh) (m) 440. 03 440. 03 - - -
AR (Brki) (m*/s) 3.57 3.57 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 6.2 6.9 - - -
K (ki) 7 7 - - -
K (m) 66.0 41.7 2.7 1.5 -
FRAK KGR (m) 0.5 33.0 65.0 0.5 0.5 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 5.8 5.8 5.7 5.8 4.4 5.4 -
)i () 1.0 1.2 1.8 1.0 0.3 1.1 -
DO (mg/1) 11.1 11.0 11.2 11.3 12.7 11.9 -
BRI (mS/m) 4.4 3.4 3.2 4.4 4.8 4.8 -
BE ) y) (AT (%) 0.9 1.1 1.9 0.9 0.3 0.9 -
DO (ZE N4 #HT) (mg/1) 11.2 11.3 11.3 11.4 12.6 11.9 7.500 F
pH (=) 7.6 7.5 7.5 7.5 7.5 7.5 6.5LL 8. 5LLF
BOD (mg/1) 0.3 0.3 0.2 0.3 0.3 0.1 1LLF
CODMn (mg/1) 1.3 1.2 1.2 1.2 0.8 1.1 -
Ss (mg/1) 1.1 1.1 2.3 0.9 0.5 0.6 25LL°F
KGR #EEL (MPN/100m1) 7.8 17 23 11 170 13 50LLF
RER (mg/1) 0.419 0.383 0.376 0.376 0.319 0. 362 -
VNN T-F (mg/1) 0. 026 0. 028 0. 026 0. 021 0. 023 - -
BRI S e (mg/1) 0.001 0.001 0.001 0. 001 0.001 - -
THEEHEZE R (mg/1) 0. 257 0. 255 0. 260 0. 262 0. 244 - -
wy (mg/1) 0. 005 0. 005 0. 006 0. 004 0. 004 0. 004 -
VN Y CERREY (mg/1) 0.001 0.001 0. 002 0. 001 0.003 - -
VA== Py (mg/m®) 1.5 1.4 1.1 1.5 0.7 1.5 -
kU o~Nm A F A RREE (mg/1) 0.019 - - - - - -
IMIB (ng/1) 0 - - - _ - _
VA AI v (ng/1) 0 - - - - - -
TxA T 4 Fa (mg/m”) 0.5 0.5 0.6 - - - -
VEfRIERR Y > (mg/1) 0.002 0.002 0.002 - 0. 003 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 000 0. 000 0. 000 - 0. 002 - -
ik (mg/1) 0. 002 0. 001 0. 001 - 0. 001 - 0.03L4F
E PN T T (f#/100m1) 3 1 1 1 1 0 -
BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY




B DAKERAERR R

TR - HEEAH k253 H5 H

= VAPNi§7/N i N Al By S N L= 17t H 3

WA (¥ A L) (ALK H) s (s k) RELILIE
S () %I \ R T I 1| ANERY
A BR AR IR 8:57 9:59 11:22 10:51 -
PN i i i i -
SR (C) 5.8 5.8 8.5 10.8 -
feokAr (Reskh) (m) 440. 31 440. 31 - - -
AR (Brki) (m*/s) 3.87 3.87 - - -
e (Frkih) (’/s) 4.00 4.00 - - -
B QAT (cm) - - >100 >100 -
B (Fr/K) (m) 6.1 6.8 - - -
K (ki) 7 7 - - -
K (m) 67.7 37.6 2.9 1.5 -
FRAK KGR (m) 0.5 33.9 66. 7 0.5 0.6 0.3 -
S8l 055 ] 455 ] 435 ] 035 ] 055 ] 0375 ] -
R (1) 5L 5L e 5L 5 5 5 -
KR (C) 6.1 5.8 5.6 6.5 6.4 6.9 -
)i () 0.9 0.9 2.3 0.8 0.2 1.0 -
DO (mg/1) 11.9 11.9 11.6 11.9 12.1 11.9 -
BRI (mS/m) 4.4 3.4 3.4 4.3 4.5 4.6 -
BE ) y) (AT (%) 0.9 0.9 2.4 0.8 0.2 0.9 -
DO (ZE N4 #HT) (mg/1) 11.6 11.6 11.3 11.8 12.2 12.0 7.500 F
pH (=) 7.5 7.5 7.4 7.5 7.5 7.5 6.5LL 8. 5LLF
BOD (mg/1) 0.5 0.4 0.3 0.5 0.2 0.4 1LLF
CODMn (mg/1) 1.0 1.1 1.2 1.2 0.7 1.0 -
SS (mg/1) 0.8 1.0 3.1 0.8 0.3 0.7 25LL°F
KGR #EEL (MPN/100m1) 13 2.0 13 4.5 330 70 50LLF
RER (mg/1) 0.332 0. 346 0. 367 0.353 0.318 0. 346 -
TRy AEESR (mg/1) 0. 031 0. 034 0. 031 0. 026 0. 026 - -
BRI S e (mg/1) 0. 002 0.001 0.001 0.002 0.001 - -
THEEHEZE R (mg/1) 0. 268 0. 264 0. 267 0.274 0.252 - -
wy (mg/1) 0. 005 0. 004 0. 007 0. 005 0. 004 0. 005 -
VN Y CERREY (mg/1) 0.001 0.001 0. 002 0. 001 0.003 - -
VA== Py (mg/m®) 1.7 1.2 1.1 2.2 0.6 1.6 -
rUo m X% AR HE (mg/1) - - - - - - -
2MIB (ng/1) - - - - - - -
VoA AI (ng/1) - - - - - - -
TxA T 4 Fa (mg/m”) 0.5 0.6 0.9 - - - -
VEfRIERR Y > (mg/1) 0.002 0.002 0.002 - 0. 003 - -
VERRIEA L B Y U ERTE Y (mg/1) 0. 001 0. 001 0. 001 - 0. 002 - -
ik (mg/1) 0. 001 0. 001 0. 001 - 0. 001 - 0.03L4F
E PN T T (f#/100m1) 0 0 0 0 4 0 -

BRb L YERE R 1AL HAAZE Y 1AL HAAE Y 1)) T AAZERY 1)) T AAZERY






